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QUESTION 1

An integration developer is designing an XML map and must update a particular value in the target to a fixed value that
is not dependent on the source. 

What would be the most appropriate transform type for this situation? 

A. Set 

B. Move 

C. Append 

D. Assign 

Correct Answer: C 

 

QUESTION 2

An integration developer has developed a module which depends on two libraries. LIB 1 and LIB 2. The libraries have
business objects with a common namespace. The module references a business object A in LIB 1 and business object
B in LIB 2. 

The integration developer is facing an issue that if the LIB 1 is listed first in the dependency editor the application code
within the module can find business object A but not business object B. Similarly if LIB 2 is listed first in the dependency
editor, the program will find business object B but not business object A. 

Which of the following solution options follow the best practices to resolve this namespace conflict? 

A. Move the artifacts with common namespaces in the same library. 

B. Refactor the namespaces of the artifacts in LIB 1 and LIB 2 so that they are unique. 

C. Remove the dependencies and place all required artifacts/business objects in the module itself. 

D. Move business object A in the module and delete LIB 1 so that the module has dependency on a single library LIB 2. 

E. Change the namespace of the artifacts in the libraries to be the same as that of artifacts in the module which is
dependent on these libraries. 

Correct Answer: AE 

 

QUESTION 3

An integration developer has developed a mediation flow component with one SCA export, one Web Service import and
one SCA import. The integration developer is tasked to test the developed mediation flow using integration test client
(ITC). The mediation module is not deployed on the test server. 

Which of the following is the most appropriate behavior depicted by ITC? 

A. ITC will automatically deploy the module when it is selected to the test server. 
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B. ITC will automatically create a test suite before performing a mediation module test. 

C. ITC will automatically create a test project before performing a mediation module test 

D. ITC expects that the module to be tested has been deployed and started on the test server. 

Correct Answer: A 

 

QUESTION 4

Refer to the Exhibit. 

A Service Component Architecture (SCA) module has the dependencies as shown in the Exhibit. How would these
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dependencies resolve at runtime to make these resources available to the SCA module? 

A. The dependencies will be imported as three Java Archive files. 

B. The library and the Java project will be imported as two Java Archive files, whereas the J2EE project will be added to
the Java build path of the module. 

C. The library and the Java project will be imported as two Java Archive files, whereas the J2EE project will be added to
the Java build path of the module. 

D. The library and the Java project will be imported as two Java Archive files, whereas the J2EE project will be added to
the Java build path of the module. 

E. The library and the Java project will be imported as predefined resources whereas the J2EE project will be imported
as a separate enterprise application. 

F. The library and the Java project will be imported as predefined resources whereas the J2EE project will be imported
as a separate enterprise application. 

G. The library and the Java project will be imported as predefined resources whereas the J2EE project will be imported
as a separate enterprise application. 

H. All the three projects need to be exported as enterprise applications and then deployed as three separate
applications to be available to the SCA module during runtime. 

I. All the three projects need to be exported as enterprise applications and then deployed as three separate applications
to be available to the SCA module during runtime. 

J. All the three projects need to be exported as enterprise applications and then deployed as three separate applications
to be available to the SCA module during runtime. 

Correct Answer: BCD 

 

QUESTION 5

An integration developer team is about to commence development on a new mediation flow using WebSphere
Integration Developer. The team is expecting the development of this flow to be a long and complicated process that will
require constant testing and repeated deployment of the EAR files. What is the BEST approach for the integration
developer to take to configure a test environment? 

A. In WebSphere Integration Developer, use the Servers tab to add a new server, then deploy to that server. 

B. Perform a new WebSphere Enterprise Service Bus installation and then configure WebSphere Integration Developer
to deploy to that installation. 

C. Create a new profile on an existing WebSphere Enterprise Service Bus server and configure WebSphere Integration
Developer to deploy to that server. 

D. Build the EAR files in WebSphere Integration Developer and deploy them to a WebSphere Enterprise Service Bus
server using the administrative console of that server. 

Correct Answer: A 
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